


18 25 ‘ 18 22 |
2 3
21
15 4 0 1
15 63.7%
17 2 63 ( 600 )
JR
17 2

147 H17 1700 H2
(H14:82% H15:108% H16: 12.3%)

14,472 H17 13000  H22

JR 171 H17 3000 H22

1,297 H17 1150  H22

0 H17 6000  H22




15 2003 18 6,500 40.2 2,615

T™O

46.8




895 | 358 | 04

105 H23 H25 180 0 0 0 0

500 H18 H22 H18 H22 95 95 95 0 95

H23 H25 1,080 0 0 0 0

H20 H25 H20 H22 900 280 280 0 280

H23 H25 2,100 0 0 0 0

EV2 ES2 H18 H22 H18 H25 642 463 463 0 463

4,997 838 838 0 838]...

0 0 0 0 0

0 0 0 0 0

3 3 H21 H22 H21 H22 11 11 11 0 11

0

0

H18 H22 H18 H22 46 46 46 0 46

0

57 57 57 0 57]...
| (A+B) 895
(=]

JR 9,000 o H22 H29 5,700
JR 1,100 o H22 H26 6,290
JR 4,000 o H22 H25 700
JR 1,000 o H22 H25 200
4,000 =) H22 H25 1,500
JR EV o H17 H19 66
JR 4,500 o H22 H27 1,700
4,000 o 6,220
80,000 o H22 H27 5,000
4,300 o H21 H23 100
o H21 H24 79
27,555
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